MATH 141
SPRING 2014 NAME:
Exam 1

L. Given that f(z) = 223 + 2z — 12, find (f~1)'(6).
2. Find all the inverses associated with f(z) = (z — 6)?, and state their domains.

3. Find the derivative of each function.
() f(z) = In(e +3)

4. Determine each indefinite integral.
(a) /(Be_sx — 8e!M™) d
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(c) /af”lom“ dx

5. Evaluate each definite integral.
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6. Evaluate the limit using L’Hopital’s Rule:
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7. Use limit methods to determine which of the two functions grows faster: z°°, 1.0005".
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ForMULAS & DEFINITIONS

0 =tan'z & x = tanb, for 6 € (—7/2,7/2)

0 =cot™'x & x=cotd, for 6 € (0,)

0 =seclx & x =sech, for 6 €

0 = csc™

0,7/2)U (7/2, 7]

[
1 [—7/2,0) U (0, 7/2]

r < x =csch, for 0 €

(b*) =b"Inb, for b € (0,1) U (1, 00)

' 1
(logy |z|)’ = ———, for x # 0

zlnbd’
1
(sin"'xz) = T for z € (—1,1)
(tan~'z)" = et for z € (—o0, 00)
1
(sec_l Z’)/ = W, for x € (—OO, 1) U (1, OO)
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b d%—mb +c, fOI‘bG(O,l)U(l,OO)

1 . (
. /ﬁdl’—Sln <a> + ¢, for a € (0,00)
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1 1/
mdw-;tan <E>+C’ for a # 0

1 1 T
. —————dr = —sec ' || +¢, for a € (0,00
/:L‘\/x?—aQ a a ( )
. sin" tzcosr n-—1 o
sin"rdx = — + /sm" 2edr
n n
cos" txsint n-—1
cos"xdr = + / cos" 2 x dx
n n
tan™ ! x
tan"xdr = —— — /tan"‘zxdx, n#1
n—1
sec" 2ztanz n—2
sec" xdx = + sec" ?xdr, n#1
n—1 n—1
tanzdr = —In|cosz| + ¢ =In|secx| + ¢

19.

20.

21.
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cotxdr =In|sinx| + ¢
secxdr = In|secx + tanz| + ¢

cscxdr = —In|cscx + cotx| + ¢



